@ x* @ x° @ xb ® X7

@ x3






3. ()3 xaty' =x1%% A o, m+ n 9 F= FStoit

D L
=%



4. 32 =ag¥ 27 S a5 A5l YERHHE?

D a2 @ o ® a* @ 4 ® a®



® x-Ty



1
2

1+|:]:a2—za+

7

1
- -a

+

3

2

3

—a
5)

Yol l o +
I S
In (]

oo T [

I +

(o} (o]
S ]

™M O [0
Q0 @

10 | T 1=
Lo+ 0 | =
N S _a

57H1"63,4
(S +
™ S ~
S o -

aho | omho
©@ © ©






8. oW Aol —42 - 248 wlolof & 71 WRste] Tiatd
F Sict. w2 A S el ger e

22
@ 2x> +x @ 3x2—x @ 4x% 4+ x

@ 5x% 4 3x ® 6x% 4+ 5x



:(3x:
a*)* = (a®)* & W, x o] g= F5tof=t



3
10. (—%ny?’) +axby” + (—%ny?’) =3yt oA a+b+c 9 B2 ot
ofet,

D R
=%






12. —16x2y3><|:] +8xy? = —4x3y? oA I:] Qrof| &gk

e

ro

® —2)cy2 @) 2)cy2 ©) —2x2y

@ 2x3y ® -2xy



13. ohe % x ol et ol2H41] AL m2wY

(1-3x+2x?) —2(x* —4x+1)

)

@ (1 2+ —1)—(—1—4 +1 2)

5x X X 5x

1

® 5 -x+1
X

@ x(4x-2)+5

® 4x2 - 5x — 4x?



a,b ol th5ko] 7x -2y - {by - (x—5y)} =ax+by d W, a-b
L otof et

o

14. 4%
2

9

C
o -

o

v



15. ohe AR 3 87 e 22

—(2a-b)=-2a+b
—2y(x 4 3y) = =6y — 2xy
2y(5y — 3) = 10y* — 6y

—2x(3x — 4y) + y(x + by) = —6x% 4 10xy + 5y2

© ® © © ©

—2x(4x—3y) —y(x-3y+1) = —8x% £ By +3y2—y



16.

X
3
T-3tefzt.

(6 —3x)

X

2

(6x—8) —3x = Ax® + Bx 2t & 1|, 2A + 3B 9] =

D R
=%



17.

%(12x+ 24)

D1

X

12

@

(36 —12x) = Ax* + Bx 2 & o, A -B ] 27

2 ® 3 @ 4 ® 5



18.

(3x% = 9xy) =+ 3x — (6xy — 8y?) + (-2y) E Al

® 4x-1Ty @ 4x+ 7y

@ 2x+ Ty ® 2x-y



@ 9x + 6y?

@ —9x3
9x3y? + 6x%y3



8x%y —12xy>  —6xy + 9y°

20.
4dxy 3y

@ o @ 4x ® 4x -6y



21. 32x(39)° =317 wf, [ | Qe ok 42

@ 2 @ 3 ® 4 @ 5



4 4\ 1 _
22. (—gxyg’) X dxy + 4xPyl = 976:2) Ao, p+q o G2 FStolet

D S
=%






24. 4dxy+ (x2y) x (xy

@ﬁ @

x3y2



25. T 292 717} 36a°x 0|2l B o] BEX[ 59| Hol7} 24 Q1 &

olt}. 4Bo] %ol & Tsholat



